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MATHEMATICS PART – A (Objective Type)  
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General Instructions:                                       ��� ����	
�   

1) Read carefully and attempt all questions.          �
���
��
����������������� �� 
2) Encircle the correct option of each MCQ as shown in the example below. � � �������  !"#�$��%�&�'�()�*� +,�#�-�.�/�0�������12����3��  �� 

Example: x8 ÷ x2 =                       x8 ÷ x2 =      ��%4  
  a) x4  b)   x6   c) x10  d)  x16 
3) Use black/blue ink for writing. Use of lead pencil is not allowed.  5�67����8�9���:;�
���������7<���=������>���?��@A��  �� 
4) If more than one option is encircled in a question, no mark will be given. 

 ��  B��$�����C�D���*#�  !@������E!�/�F����  !)�*� +,�#�#D��:G��H�IA��  !#�?�J� �� 

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this part. Each question 

carries 1.5 marks.      �K�J 1.5 ��� !�L 4$�M�N��O )32 (�K�P�Q#������12���3���������� ��  

Questions ���� Rough Work �����  

Q. No.1. Subset of {1,4,5 } is:                                             ��� R  S�T�7 {1,4,5 }  
a) { φ  }   b) {0}   
c) {4}    d) {3}         

Q. No.2. The power set of {0,a} is :                                        ��� R  S��U�7 {0,a} 
a) {φ , {0}, {a}} 
b) {{0}, {a} , {0,a}} 
c) {{ φ }, {0}, {a} , {0,a}} 
d) {{ }, {0}, {a} , {0,a}} 
 
 
 

 

Total Marks: 48 Part-A(MCQs) Total Time: 1 hour 15 minutes 
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Questions ���� Rough Work �����  
Q. No.3. Which one of the following is a rational number? 

�������������	 
����
؟���������  

 a) 2   b) 7   c) 11  d) 16 

Q. No.4. The square of 21 is:                                                 21 ������  
a) 42   b)  63  c) 421    d) 441  

Q. No.5. The square root of 12.25 is:                                     ��������� 
 ���� 12.25 
a) 2.5   b) 3.5   c) 35   d) 37  

Q. No.6. 3 216= 

a) 6  b) 36  c) 72  d) 108 

Q. No.7.  (1111)2  × (10)2 = 
a) (1101)2   b) (1111) 2  c) (10001)2   d)  (11110)2 

Q. No.8. (3)5 + (3)5  = 
a) (10)5    b) (11)5 c) (30)5 d) (33)5  

Q. No.9. (12)10 =  

a) (1100)2 b) (1011)2     c) (1110)2     d) (1111)2  

Q. No.10. (7)8 - (3)8 =  
a) (4)8             b) (11)8    c) (14)8 d) (40)8   

Q. No.11. 40 men complete a work in 20 days. In how many days will 80 
men complete the same work? 

40 ������� ����20��� ����� ��!�"#�$�
80���%��&
�'(�)*�+#��$�  

a) 10  b) 20  c) 40  d) 80 
Q. No.12. The marked price of a toy is Rs. 1000. If 5%  discount is given 

then its sale price will be: 

5,-�.��/0�1���2�3� 4 
567 
8�9�:�;�  %  �����=>:��?3�@��91000�A�����B6�  
a) Rs. 200   ���  b) Rs. 950 ���  
c) Rs. 995 ���           d) Rs. 1200 ��� 

Q. No.13. How many Canadian dollars are in Rs. 6156?  
(1 Canadian dollar = Rs. 81) 

���B6��  	 6156 ��B6��&�
�!�C�D�EF
  ���C�D�EF  
a) 76            b) 81         c) 6075  d) 6237 

Q. No.14. The degree of  polynomial, y4 + 5y2+1 is : 

 �������� y4 + 5y2+1�GH��I 

a) 1  b) 2  c) 4  d) 5 

Q. No.15. (3x2+2y – 3) – (x2 – 2y+2) = 

a) 2x2+4y +5   b) 2x2 – 4y –1   
c) 2x2+4y –5   d) 2x2 + 4y –1 
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Questions ���� Rough Work �����  
Q. No.16. (3x2 – 11xy – 4y2) ÷ ( 3x + y) =  

a) x – 3y b) x + 3y  c) x + 4y  d) x – 4y 

Q. No.17. Factorization of x2 + 6x – x – 6 is:               �>��VW���  x2+ 6x – x – 6 

a) (x–1)(x+6)   b) (x+1)(x–6)  
c) (x–1)(x–6)   d) (x+1)(x+6) 

Q. No.18. Factorization of – x2y + xy2 + xy is:  >���VW�  – x2y + xy2 + xy 
a) – xy(x + y + 1)  b) xy(x + y+1) 
c) – xy(x – y – 1)  d) xy(x  – y – 1) 

Q. No.19. 9 – ( a + b )2 =  
a) (3 – a – b)(3 – a + b) b) (3– a + b)(3 + a + b)  
c) (3– a – b)(3 + a + b)  d) (3– a + b)(3 + a – b)  

Q. No.20. If 
1

3x
x

− =  then the value of x
x
+2

2

1
 is: 

 ���X�> x
x
+2

2

1 F  1
3x

x
− = �D� 

a) 4  b) 7  c) 8  d) 11 

Q. No.21. Factors of x2– 16 are:                    �I��Y EZ����K�1[  x2– 16 

a) x – 4, x – 4              b) x – 4, x + 4 
c) x + 4, x + 4             d) x – 16, x – 16 

Q. No.22.    + =
1

x m
x

  

   + =2 2
2

1
x n

x
 

By eliminating x from above equations, we get :  �G�\]���^��_`��� a!b�  x �-��c�V#����$�dF��e   
a) m2 – n2 =2   b) m2+2=n2   

c) m2 – n=2   d) m2+ n2=2 

Q. No.23. A linear equation in two variables is :     ��f��#��g-�������e�h
#�  B  

a) x+y=1   b) x2+y=2 
c) x2+y2=3   d) x+y2=4 

Q. No.24. In the given figure, CD  is called a:                 ��� a!i�  CD c�V# $�j  

a) sector     �  

b) tangent  ��    

c) radius   ����        

d) diameter 	  
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Questions ���� Rough Work �����  
Q. No.25. In the given parallelogram, the value of “ x”  is: ���X�> �x� c�V#�kl���V@�m��$  

 
a) 4   b) 6 
c) 10   d) 16 
 
  
 

Q. No.26. Number of vertices of a hexagon is:  

 Nn �����ob�#�p�>�d��
  
a) 3  b) 4  c) 5  d) 6 

Q. No.27. In the given figure, a pair of corresponding angles is: �:b�V# � Y aq�$�jdr��@��*s�7�����t/  
a) ∠2 , ∠4    
b) ∠1 , ∠3   
c) ∠3 , ∠2  
d) ∠5 , ∠4   
 
 

Q. No.28. In the given right angled triangle, the value of x is: ��X�>�  x �V#�c u+ vw axy�z��$�{�|��  

 
a) 4cm b) 8cm 
c) 16cm d) 64cm 
 
 

 
Q. No.29. The radius of base of a cone is 4cm and its slant height is 5cm. 

Its curved surface area is: �>�N��}���~� ���
�7���  5cm ��� a,�
���V�  4cm   B��������7���w��N�#
  
a) 9πcm2    b) 16πcm2   
c) 20πcm2    d) 36πcm2 

Q. No.30. The radius of a spherical tank is 3 metres, the capacity of water 
in the tank is:   �V���  B�
�7��N�# ���$�N��}����� R  �
���>����!�����>���  

a) 12�m3     b) 9�m3   
c) 36�m3              d) 108�m3 

Q. No.31. The mode of the data 3, 5, 7, 5, 6 and 5 is: 

  �#� 3 ،5 ،7 ،5 ،6 
�� 5 ���*#���7  
 a) 3    b) 5  c) 6  d) 7 
Q. No.32. The median of the data 31, 32, 35, 36, 37 is:  �������7  31, 32, 35, 36, 37 #��  

  a) 31  b) 32  c) 35   d) 36 
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